
Dear customer:
Thanks for your purchase in our store. Any questions, please contact us with below details:

1.Purchase platform & order number

2.Model number & Instruction version#

3.The detailed photo (faulty part, damage part, if some parts are missing, please circle it/them on the manual instruction) and send us.

   We’ll reply as soon as we receive your message(usually within 24 hours).

お客様
この度、当店の商品をご注文いただきありがとうございました。何か問題点がございましたら、下記の情報を提供し各プラットフォームのメセ
ッジ或いはメールを通じお気軽にお問い合わせください。
1.注文プラットフォームと注文番号
2.商品型番と説明書バージョン
3.ディーテール写真（違う部品、不良品、欠品など、説明書での写真も指摘してください）を送ってください
4.返金或いは部品発送が欲しいかを予めにコメントしてください
  メセッジ/メールを受信するとできるだけ早く回復致します。

TV STAND WITH MOUNT

MODEL
F01F1461L

ISSUED: 2020.1-0

for visual 
enjoyment 



1

What's in the box

3 x2

8  x2

9  x4

4

5

6

10

7

1 2



What's in the box Easy to install

8 2030

M-C x4

45

M-D x4

φ16xφ8.2x1

M-E x4

φ15xφ8x5

M-F x4

φ15xφ8x15

M-G x4

66

M-B x4M-A x4

M6 M8

Bracket Short Screw Washer

Bracket

Long Screw Washer

Spacer

(a) For Flat-backed TV

(b) For irregular -backed (Rounded) TV

How to choose mount screws for your TV

2 3

The back of the TV 

Choose the suitable length screws

The back of the TV 

M8x50 M8

(14mm)(13mm)

M5x16 M8x12

M8x35 Φ16xΦ8.5x1.0

M5x30

5mm

37.4x15.8x13.5

A x4

C x4 D x10

E x4 E x4

F x2 F x2

G x1 G x1

x4B 



5

1

Easy to install Easy to install

4

3

3 3

f

D X6

1

10 5

1~3MM
√ ×
Don’t tighten the screw

(5mm)



step1

step2

7

9 x4

C X4

A X4
Step1

Step26

Easy to install Easy to install

7

32

6

8 X2

(5mm)



√×
Tighten the screw

UP

E X4B X4

2

(5mm)

(14mm)(13mm)
(5mm)

Easy to installEasy to install

9

54

8



D X4

4

Easy to installEasy to install

11

76

10



Easy to installEasy to install

13

98

12

F X2

F X2

(5mm)


